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Aufgaben-Quickname: 7973

Aufgabe 1
Quick:
7973

Berechne.

a) 24 + 14 + 11 + 51 = 100 b) 14 + 11 + 6 + 49 = 80
c) 16 + 5 + 17 + 29 = 67

Aufgabe 2
Quick:
7973

Berechne.

a) 9,95 + 10,24 + 16,98 + 10,41 = 47,58
b) 1,85 + 26,89 + 30,97 + 35,63 = 95,34
c) 3,53 + 11,41 + 36,56 + 44,19 = 95,69

Aufgabe 3
Quick:
7973

Berechne.

a) 6 + 2 + 19 + 65 + 98 = 190 b) 4 + 24 + 3 + 23 + 55 = 109
c) 22 + 30 + 2 + 61 + 60 = 175 d) 30 + 14 + 43 + 8 + 68 = 163
e) 36 + 29 + 2 + 7 + 106 = 180

Aufgabe 4
Quick:
7973

Berechne.

a) 15 + 24 + 15 + 34 = 88 b) 21 + 21 + 29 + 13 = 84
c) 11 + 3 + 14 + 54 = 82

Viel Erfolg!
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